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Version 1:  How much water at 80° C is needed to melt 100 g ice at ­20° C and bring the 
total liquid to a final temperature of 35° C? 
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Principle :

0 = Q = Q  + Q  + Q  + Q  

0 = 0.1kg 2090 0 - -20  + 0.1kg 3.33 10  + 0.1kg 4190 35 - 0  + m 4190 35 - 80

m = 0.277 kg = 277 g

 

Version 2:  200 g copper at 90° C is dropped into a mixture of 5 g ice and 45 g water at 
0° C.  What is their final temperature at thermal equilibrium? 
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Principle :

0 = Q = Q  + Q  + Q  

0 = 5 g 3.33 10  + 50 g 4190 T - 0  C  +  200 g 385 T - 90  C  

T  = 18.4  C

 

 

Version 3:  How much total ice at ­15° C is needed to cool 80g ethyl alcohol from 40° C 
to 0° C with 5 g ice remaining in the liquid? 
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Principle :

0 = Q = Q  + Q   + Q  

0 = m 2090 0 - -15  + m - 5 g 3.33 10  +  80 g 2400 0 - 40  

m = 25.6 g

 


